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Note : earlier, we noted the dispute between 8p ’1and »ov 1 regarding interpretation of mutually exclusive statements. 8D 71

allows 1¢t statement to “drive” the entire statement, »oy “1 maintains equivocation. Regarding a statement which is clearly intended as
“doubled”, N27maintains that they still disagree; others maintain that PN "1 accedes that we must accept the equivocation.
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L. Analysis of Xn’»11 comparing 0%y to NRMVY or to 10t (above)
a.Question: which nRPIY — DYIIRN NRMIV Or YN NRMO?
i.  Must be: 9 nRmY, since there’s no obvious distinction between nkmv and n%y if it’s the invalidity of a member
1.Query: why would “partial n'%1»” be a question if “partial nkmv” is clearly valid?
2.9 nxmv: even if 1 limb became Xnv, we only burn that one
ii. Challenge: from 2 clause <jnr is unique in that it applies to all 'nar> — why doesn’t nkmv apply to all onar?
1.Therefore: 2" clause must be referring to 092180 NRMY
a) Note: 91 Rno may send their n117p — except for 9”p
iii. Challenge: 1t clause is qun nkmY and 2"d is 7Wa NRMY?
1.Answer1: indeed — the challenge is from nxmv nw which is inclusive of all types
2.Answer2: all are Qun nkmv — in all o'nar, if 29N or 1w are XnY, we destroy that part and continue with 17
a) But: re 9”p, only if the 29N is RNV do we continue; if 7W1 is XNV, no 7”71
iv. Challenge: final clause distinguishes nkmv that is sometimes 11 (0302 217 1RNVI) —i.e. DIIYNRN NRMYV
1.Answer1: indeed — the challenge is from nxmv nw which is inclusive of all types
2. Answer2: all gun nrRmY; if 8”p is brought DY7RN NRMVI, it’s eaten NRMYVA (930 NRMV — via contact with DIrNV)
II. Challenge (W’ '17 112 X110 "1) against RToN "1's selective use of RN
a.’”1 8”1 disagree regarding a non-nva brought on 14 noa w5 - but agree (1v3) if brought another time
i. Defense: v. 1 stresses X1 noa nar: it is consistent
1.0nly: on 7, when if brought onx nwY is it invalid; if toher brought ymw?Y is it invalid — not other times
III. Story of »RYnw "1 and 11Ny '3, incidentally clarifying a point in our mwn
a. NSpW “7's demand: to study pony 1av, Ny '7’s refusal and grudging agreement (vv. 2-3)
b. Incidental clarification: of distinction between (5199) 10w ®YV1 1NWYYH and :(TW3) PIIRY RHWY PHIIRY
i. w5 applies to body of 127, the “problem” cannot be isolated, applies to all 4 mmay and applies to Max 127p
1.owx "1 application to body of 129p::non-isolationability of problem
IV. (81 7] — omnR) Rn2: if 091 come first, valid; if D¥97Y come first, invalid
a.1st possibility: like 829, (see note); VMW exists at 1 moment
i. Therefore (n”): only 1 intent can count (j3171 disagree and allow for a duration)
ii. /727 perhaps nv'nw has a duration, intended both but didn’t say w91 until afterwards
1.»77. no need for intent and explication to jibe (11w 125 1)
2. 227 must jibe > when he intended both, we associate that with his words
a) Challenge: n" holds that pnw 1% va (from qwyn/nman, Nt n*a etc.)
b) »an: 1% case (valid) where he intendd 0’91 at 1¢t j2>0 and both (%) PIn) at 27 o
i. 2" case (invalid): where he intended %y at 1t in>0 and 5 at 274 — 15t 0o had not proper eaters
1.n7. allows for invalidity in 2 a 7'nn; 1127 do not ('nn *¥na 15190 PRr)
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